
Graph 𝑓(𝑥) = 𝑥ଷ − 3𝑥ଶ, 𝑓ᇱ(𝑥), 𝑎𝑛𝑑 𝑓ᇱᇱ(𝑥) on three graphs working down the page.

Graph 𝑓′′(𝑥) = 𝑥 + 1, 𝑓ᇱ(𝑥), 𝑎𝑛𝑑 𝑓(𝑥) on three graphs working up the page.

𝑓(𝑥) =          𝑥ଶ,       𝑥 < 1
   2𝑥 − 1,     𝑥 ≥ 1

𝑓ᇱ(1) =

A function 𝑓(𝑥) consists of 
straight lines and a semi circles.

𝑓(𝑥)

Find
𝑓ᇱ(−2) =
𝑓ᇱ(−1) =
𝑓ᇱ(3) =
𝑓ᇱ(1) =
𝑓ᇱ(4) =

  Lim
𝑥→ 1

𝑓(𝑥) − 𝑓(1)

𝑥 − 1
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

  Lim
ℎ→ 0

𝑓(ℎ − 1) − 𝑓(−1)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

Sketch 𝑓ᇱ(𝑥) from 𝑓(𝑥)

𝑓(𝑥)

𝑓(𝑥)

Sketch f(𝑥) from 𝑓′(𝑥)

𝑓′(𝑥)

𝑓(0) = −4
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